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BF [ETE] K4 fiE BEARXM Bt ¥ B {& ERB B R
1 [100m KH BE3l FEERK 10.58] 7/10[10.81(1/h10)-0.1m/s Z& R BH1E 7/11[10.87(7/h3) +0.3m/s && 7/11 —
2 [100m X5 BE BEAMEEASEK 10.66] 7/10]10.89(3/h11)+0.5m/s &k 7/11 — 7/11 —
3 [200m 28 it KEFESK 21.49| 7/12 |5k #& 7/13 — 7/14 —
4 [400m HF HREE EWRTI SR 46.92] 7/10 [47.28(1/h4) FERBEE 7/11[47.23(5/h3) &= 7/12 —
5 [400m MEREE: EEA ST 47.25( 7/1046.99(3/h3) PB ERFEL 7/11[47.38(5/h1) &&E 7/12 —
6 [3000m BEX = INRERR 8:26.80] 7/11[8:30.26(4/n1) REGAHE L 7/1418:24.37 6RIAE PB
7 _[3000m H FE & AN 8:26.03] 7/11[8:31.68(4/h2) REGAHE L 7/1418:27.06 8RIAE
8 [t110mH JIF Eth HEAMEMESE 14.19] 7/11]13.86(1/h2) +0.5m/s PB #EREEEH | 7/12[13.61(3/h3)+0.4m/s PB REEEHE [7/12[13.78(-1.1m/s) TRAE
9 [400mH e BE HEESEK 51.49] 7/10[52.59(2/h2) FERBEE 7/11[51.00(3/h3) PB REBEEH 7/13(51.58 4L AE
10 _[400mH AR BE# | REEREEKR 52.96] 7/10[53.50(3/h3) FEREBEE 7/11[52.03(4/h1) PB %&:& 7/13 —
11_[2000mSC x/& ih R RERZEHE SR 5:46.36] 7/10[5:53.85(2/h1) REGAE L 7/12|5:42.16 6L AE PB
12 [10000mW WdE FF0 FEIIEEES 41:14 7/13141:53.80 ZE;-&A4 )L PB
13 [10000mW WT #Bx ELEESK 41:58 7/13142:07.94 4RIAE PB
14 |5k BX = AEEEERK 5.00] 7/12 [4.60 %&:&E 7/14 —
15 [#5Bk MA RE BEFESKR 491] 7/1214.80 RIEEH 7/1415.00 56GIAE PB
16 | FEIEHk N KA TEEZER 7.46] 7/10[7.12(+0.3m/s) EE 7/11 —
17 ek WE EE EHEK 7.34] 7/10[7.39(+2.0m/s) JRBEEHE PB 7/11]7.40(+0.6m/s) 468IAE PB
18 | =Rk #IL FX HESK 15.39] 7/12[14.63(+0.5m/s) & 7/13 —
19 [Py LTI TtEER 66.73] 7/12(68.20 3&E PB 7/14 —
20 [V x5 SABESR 65.00] 7/12(71.89 REBEL PB 7/14(66.07 10z
7/10 [100m 11.39(7765)-09m/s | 7/10 [400m 49.95(8175) PB 7/11[HYE 50m76(7345) PB
21 |J\FERRH g EBINEZER 6037| 7/10 [EmEBk 6.30(652 51)+2.5m/s 7/11 [110mH  14.39(9255)-0.4m/s PB 7/11[1000m  i2:49.35(77255) PB
7/10 [Fa i % 10.89(539 ) 7/11 |FEEBk  i1.96(7675) 598253 8 AE PB
FEHA HiZA—4— JIE 13z SCE%
ARL—yL— |LAI3H /NE—K H—LUR—imHF 1/h1 RESEH 1:52.18
RESHAE HiZA—4— JIE 132 SCE%
7B 14H JINEH—K B—IUAR—HH 36T FHASIL 1:50.52 PB
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TF LA K4 FiE HOAZXH Bft i B+ ERE Bt B
1 [100m B kA |/MEZzek 11.92] 7/10[12.55(5/h1) —0.6m/s &= 7/11 — 7/11 —
2 [200m Tl OBE WIEESK 24.02] 7/12]23.78(2/h3)-1.6m/s ZEREEAEE PB [ 7/13[24.01(3/h2)-1.4m/s E&E 7/14 —
3 [400m WA EFEF ERHIEK 5451] 7/10 [55.07(1/h6) ZEREEEH 7/11[54.64(4/h1) REBEH 7/12|5459 6[AE
4 [1500m BiE ¥BE |[HEESKR 4:22.97] 7/10[4:30.29(6/h2) &= 7/13 —
5 [1500m HKkA Eff [ARELXFEK 4:23.45] 7/10 [4:20.60(2/h1) RiEHEE SB 7/1314:22.46 8IAE
6 |3000m Fin G ([N EEER 9:15.39 7/10]9:24.60 7RIAE
7 [3000m HE ASF [EREESEK 9:15.79 7/1019:24.24 6IAE
8 [100mH ~AVTE) B|FEEXEER 13.79] 7/10[14.10(3/h3)-1.6m/s #kpEH SB 7/11[13.98(7/n1)-1.1m/s %% SB 7/11 —
9 [100mH B EIR  RMTHIEK 14.00] 7/10 [14.04(3/h1)-1.6m/s #kMEEH SB 7/11 13.75(5/h3)+0.1m/s 3&3& SB 7/11 —
10 [400mH it B (HESK 1:00.23] 7/10[1:01.11(3/h3) EREGEH 7/11 [1:00.39(2/h2) %&:& 7/13 —
11 |5000mW EH F  |[FEPRER 22:24 7/13122:42.77 2§1-8EAF )L PB
12 [DV#E Hh X2 |BHFRER 49.06] 7/10]50.87 REEEH PB 7/11 (4871 8MAE
13 [PV X LRRXEHESK 47.67] 7/10[48.60 %:E PB 7/11 —
7/12 [100mH 13.91(991&5)-1.2m/s PB_ [ 7/12[200m 25.71(8235)-0.5m/s PB | 7/13[800m 2:15.70(883 £)PB
14 |t AVTEL B|EHIXEER 5104| 7/12 |FEES Bk i1.54(6665) PB 7/13 |FEMERK  i5.17(60655)-0.2m/s PB
7/12 [FafL$%  112.43(690:5) PB 7/13 [*OY$%  146.61(7955)PB 5454;3 TRIAE PB
FEHR HiGA—4— =53 ROEK
ARL—L— [|6H13H hif & T IL—A 1/h2 REEH 2:08.39
RIBEH HiGA—4— =53 ROEK
68148 PR —BEHE—FIL—0A 36 AL 2:07.61 PB




